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B(x ,r)
u(y)dy =
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u(y)dy
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��� [X ] = X+ − X−� ������� ������ ������� ����������������
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[Sσ] = �

lim
x→x�±

(S �σ) =
�
S � ∓ �

�
I

�
(σ)(x�) ⇒ [S �σ] = −σ

lim
x→x�±

(Dσ) =

�
D ± �

�
I

�
(σ)(x�) ⇒ [Dσ] = σ

[D �σ] = �

����� �� ������������ ����������� �� Γ?
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Ω ⊆ Rn �������� C �� ��������� ��������� �u = � �� Rn \ Ω� u �������

(S∂Ω(n̂ ·∇u)− D∂Ωu)(x) + (S∂Br (n̂ ·∇u)− D∂Bru)(x) = u(x)

��� x ������� ∂Ω ��� B(x , r)�
�������� �� ���������� ������
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u �������� �������� �� Rn \ Ω
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(S∂Ω(n̂ ·∇u)− D∂Ωu)(x) + PVu∞ = u(x)

��� ���� �������� u∞� ���� ��� n = ��

u∞ =
�

�πr

�

|y |=r
u(y)dsy .
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��� �� ��� ���� �� ����� u �� x → ∞�

�������� ��� �������� �� ��� ����������� �������� �� r → ∞�

��� ����� u�� ������������
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���� limx→∂Ω− u(x) = g
� ������

limx→∂Ω− n̂ ·∇u(x) = g
� ��� ����� �� ��������

���� limx→∂Ω+ u(x) = g

u(x) =

�
O(�) �D

o(�) �D
�� |x | → ∞

� ������

limx→∂Ω+ n̂ ·∇u(x) = g
u(x) = o(�) �� |x | → ∞
� ������

���� g ∈ C (∂Ω)�
���� ���� f (x) = O(�) ����� ���� f (x) = o(�)��
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